Biology 11 – DNA and Punnett Square 
Notes


DNA and genes

The structure of DNA
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The base pairs



Chargaff’s Rule

Question:  If there is 30% adenine in a strand of DNA, how much cytosine is present?

Answer:

Genes
Alleles
Gregor Mendel: father of genetics

·  
Mendel’s experiment

Mendel’s Conclusions

Dominant vs. recessive
dominant =  
recessive =  
Heterozygous vs. homozygous
Heterozygous =
Homozygous =  
	Phenotype
	Genotype

	
	

	 
	 


Genotype vs. phenotype
Genotype =  
eg.  
Phenotype = 
eg.  
The Punnett Square

In three steps, it’s an easy way to determine the probability of offspring:

Step 1: Make a 2 X 2 Square grid
Step 2: Put the alleles of each parent on the outside of the square
Step 3: Combine alleles to make potential offspring in the middle of the square

Sample Punnett problem

The gene for free ear-lobes is dominant (E), and the gene for attached earlobes is recessive (e). If a heterozygous male mates with a homozygous recessive female, what is the probability that their child will have attached earlobes?

Solution:
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